NAME K6 SP436 Quiz 4

1. If an acoustic wave travelling in a medium (of density 1000 kg/m’) has acoustic pressure given by
p(x.t)=(3x10"Pa)cos[(2.50 m" }x —(3700 s }t]

where x and t are in meters and seconds respectively, determine the following (ensure you show all work and the
proper units):
a) (1 Point) Wave speed or speed of sound in the medium, c?
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k) (1 Point) What is the peak acoustic pressure of the wave, P, pu.”
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c) (2 ants} What is the medium’s peak particle velocity, Upea?
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d) (1 Point) What is the effective or rms pressure?
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e) (1 Point) What is the effective or rms velocity?
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(2 Point) What is the time averaged intensity of the wave, <I=? . B
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g) (2 Points) The intensity level of the wave, TL?
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In water: D=1 uPa. L.c= 6.67x10""° W/m?2



